
31       7020248-CR              Handle Base

32       7260260-CR          Connector tube 

 
33           7130149        Wearing ring 26x23x2 

34          7100041       O-ring 23x2.5   

Diverter handle base

M4 washer

M4x6 screw

M4x10 screw

Spline

G diverter cartridge

Wearing ring

Body

40 mm Cold Start Cartridge

42x1.25 lock nut

O-ring 44x2

Decorative cap

7150082 M4x8 screw

7150001 M5x5 screw

7020247 Handle stick

Chrome silica gel hose

Magnet box

Connector

Button for magnet box

G mess gasket

O-ring 24x2

Sprayer connector

O-ring 10.4x1.7

Round steel fitting

Spryer plastic connector

Sprayer

Plastic tooling for sprayer

Button

Diverter handle stick

7100263

7040138

7010280-CR

7140091

7050026

7150072

7260193

7140090

7130150

7170009

7020249

7020250-CR

7110054

7150134

7190019

7370001-CR

7260256

7100132

7260016

7170038

7110059

7100095

7080129

7260261-CR

7030101

7190020

Double end flexible hose

DAX-8020094-CR

7070119



35

36

M40 base

O-ring 48x3

Gasket

SUS washer

Shank

C type nut M32

M6x20 screw

M10-9/16 -50 cm flexible hose (red)

M10-9/16 -50 cm flexible hose (blue)

Red button

Blue button

O-ring 18x2

M5x6 screw

Spout bar

M16 5x1 aerator

M16 5 aerator tooling

Magnet

Magnet box accessories

M3x20 screw

O-ring 9.5x1.5

O-ring 11.2x1.8

180mm inlet pipe

160mm inlet pipe

M8 inlet pipe

Connector

7260043

7070065

7070066

7260042

7110046

7210022

7160041

7150013

7070180

7080243

7030100

7100015

7110045

710012845

707017846

47

48

49

50

51

52

53

54

55 

56

57

58

59

60

7070179

715011143

710021644

709003439

726020240

726025841

726001442

7100059

715007437

7060078-CR38

Jump ring 20x15.5x7.6

DAX-8020094-CR

7030148


